SKYWALK WITH MESH (HANDRAILS)

SKYWALK WITH MESH (STANDARD)

SKYWALK WITH MESH (LEVELLED)

Vicnkey/toe

EVERYTHING BETTER
0800 658 637 - www.monkeytoe.co.nz

©'P17 d01AaxUoN Aq pareuBisap eyl Jayo Juasuod uanum Joud 1noyum “9sfoid 1o asodind Aue Joy pasn aq 1ou |[eys 1| "pi1 aoikaquol Jo Auadolid pue 1ybuAdod syl si ubisap paleldosse pue Bumelp siyL

Skywalk With Mesh Install Guide

MONKEYTOE GROUP

DWG No: 2004-MSW2-1-01 5/06/2020

A — ] SHEET 1 OF 4 A3

g — SCALE: 1:10 REV:01
DO NOT SCALE DIMENSIONS IN MILLIMETERS




1100 TYP.

i 430, 445

81

SIDE ELEVATION

MPO011.2* Right Bracing

DETAIL 2

1.5

Plate

4x 22mm Tek Screw

PMO06 Bearer Rail

BRACING PLATES REQUIRED IN PAIRS
AT EACH END AND EVERY 10000mm TYP.

EWO003 Mesh Joiner

DETAIL 1
1:2

EXPLODED VIEW

Vicnkey/toe

EVERYTHING BETTER
0800 658 637 - www.monkeytoe.co.nz

WO055+ Mesh Fixing Disc
Amplymesh

65mm Tek Screw

4x 22mm Tek Screw

PMO6 JOIN DETAIL

(FOR SKYWALK OVER 6000mm)

1.5

MPO011.1* Left Bracing Plate
4x 22mm Tek Screw

PMO06 Support Rail
SWO004* FRP Rail Connector

©'P17 d01AaxUoN Aq pareuBisap eyl Jayo Juasuod uanum Joud 1noyum “9sfoid 1o asodind Aue Joy pasn aq 1ou |[eys 1| "pi1 aoikaquol Jo Auadolid pue 1ybuAdod syl si ubisap paleldosse pue Bumelp siyL

Skywalk With Mesh Install Guide

MONKEYTOE GROUP

DwWG No: 2004-MSW2-1-01 5/06/2020
A — ] SHEET 2 OF 4 A3
W I\ SCALE: 1:24 REV:01

DO NOT SCALE

DIMENSIONS IN MILLIMETERS




Walkway Levelling Upright Walkway Levelling Top Rail

PMO06 Support Rail 22mm Tek Screw
490 MW006 MKT Walkway Clip L ! EACH SIDE
' ' 22mm Tek Screw 2x 22mm Tek Screw — e
| | EACH SIDE o
11 1} o s )
- / -7 /L‘Tf) w
N T y &
MKT Roof Clip - s - ’
e 3000 MAX. - REFER TO SPEC SHEET L/Eﬁ"‘
p
SKYWALK SUPPORT (STANDARD) SKYWALK SUPPORT (LEVELLED)

HR006.1 Walkway Mounted Stanchion \_‘
I

©'P17 d01AaxUoN Aq pareuBisap eyl Jayo Juasuod uanum Joud 1Inoyum 9sfoid 1o asodind Aue Joy pasn aq 1ou [[eys 1| "pi1 aoikaquol Jo Auadolid pue 1ybuAdod ayl si ubisap pajeloosse pue Bumelp siyL

— N — | —_ = PR PR
HRO006.* Roof Mounted Stanchion —= l
[
[
< |
HRO006.2 Stanchion Backstay <
p 2x 22mm Tek Screw
. EACH SIDE
= / Fost =
2x 22mm Tek Screw EACH SIDE ‘) '
2x 22mm Tek Screw /,,/
EACH SIDE Walkway Levelling Top Rail B | {22mm Tek Screw
l EACH SIDE [" o
L = it - - e S
| //“\ iil - ‘—/'_‘ j‘_ji/// /‘\%&/”J
-~ €8 I / *4 _ - — 1t - - il
o / / - - \‘-;T / //// I / / ~ / \i
o] — 7 - J— 3 _3 - i
O \\— — o K: o 8x 22mm Tek Screw
"L H‘%‘E‘/ - HRO006.4 Stanchion Base Bracket \r €8 - — HRO006.4 Stanhion Base Bracket
s e
Wf 8x 22mm Tek Screw b Eid
i ¥
) 4
SKYWALK SUPPORT (LEVELLED WITH SINGLE HANDRAIL) SKYWALK SUPPORT (LEVELLED WITH DOUBLE HANDRAIL)

Skywalk With Mesh Install Guide

/ - MONKEYTOE GROUP
i\/i O I] "\ e \ / LO e DWG No: 2004-MSW2-1-01 5/06/2020
o A ] SHEET 3 OF 4 A3

EVERYTHING BETTER N SCALE: 1:1 REV:01

0800 658 637 - www.monkeytoe.co.nz DO NOT SCALE DIMENSIONS IN MILLIMETERS




415 TYP.
TO SUIT SUPPORT RAIL

50 MAX.

_/

o
%8@
4
oOO
¥
/

'
¢

(

'

)
)
i

'

'
)

"

"

)
'

"

!

A

"

(!

A

A

o
N
o

(|

A

N

Y
¢

(!

;
{

¢
J

|
ogo
.
X
)

v
(

'

\/
¢
¢
|
i
8@
:

{
{

W
o
Wi

\
A

!
{
{

\
|

0

)

i

'
L

it

\/
)
{
A

!

é
\

:
OOO
|

'
)

(!

i
\

)

)
)
i

'
'

|

'
'

'
!

'
i

A

'
'
'

!
\

¢
|

'

A

|
'
i
i
¢

¢

¢

’
!
¢
f
!

o
N
o
o

$
}
f

(!

0
\
o
N

J

N

N

J
J

o
%80
{

!

\
}
\
’
¢

J

N

!
!

¢
‘O

'

\
)

;
¢
o
%@
¢

OO

{
{

|

\
ogo
v
r
\
o

)
)

e
e

\
}

:
;
>o

)
i

<>

0
<>

A

"

"

o
/!
o
i

N

¢

N

}

\
8@
X
o
N
\

OO

o
"
¢
<>
N

i

{

N

¢

'
)

'

50 MAX. (EACH END ONLY) 550 MAX. (TYP.)

22mm Tek Screw
HRO017* Handrail Cross Brace

22mm Tek Screw

HANDRAIL CROSS BRACE
1.5

HRO009 Kneerail Extrusion
HRO15* Kneerail Joiner

2x 22mm Tek Screw

HRO006.2 Stanchion Backstay
HRO006.* Handrail Stanchion

2x 22mm Tek Screw

8x 22mm Tek Screw
HRO006.4 Stanchion Base Bracket

BASE MOUNTED STANCHION
1.5

HR010* Handrail Endcap
22mm Tek Screw

2x 22mm Tek Screw

HANDRAIL JOINERS

1:5 1:5

REFER TO 2004-HR-1-01 FOR ADDITIONAL
HANDRAIL INSTALL PROCEDURES

Vicnkey/toe

EVERYTHING BETTER
0800 658 637 - www.monkeytoe.co.nz

<

S -
HRO11* Kneerail Endca&
22mm Tek Screw

HANDRAIL ENDCAPS

HRO008 Handrail Extrusion

2x 22mm Tek Screw

HRO006.* Handrail Stanchion

HRO009 Kneerail Extrusion

50mm Tek Screw

e
HRO09 Kneerail Extrusion n'
50mm Tek Screw

HANDRAIL FASTENERS
1.6

©'P17 d01AaxUoN Aq pareuBisap eyl Jayo Juasuod uanum Joud 1noyum “9sfoid 1o asodind Aue Joy pasn aq 1ou |[eys 1| "pi1 aoikaquol Jo Auadolid pue 1ybuAdod syl si ubisap paleldosse pue Bumelp siyL

Skywalk With Mesh Install Guide

MONKEYTOE GROUP
DWG No: 2004-MSW2-1-01 5/06/2020
A — ] SHEET 4 OF 4 A3
N SCALE: 1.5 REV:01
DO NOT SCALE DIMENSIONS IN MILLIMETERS




